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†gvU ‡MÖW ‡gav ¯’vb gšÍe¨

1 kixdzj Bmjvg 98 90 94 98 94 99 97 99 96 865 A+ 1 djvdj AwZ m‡šÍvlRbK

2 Avãyi ingvb 88 90 91 98 97 99 95 99 94 851 A 3 djvdj AwZ m‡šÍvlRbK

3 Igi wgqv 92 90 97 93 98 99 96 99 93 857 A+ 2 djvdj AwZ m‡šÍvlRbK

4 Gbvgyj nK 98 63 73 78 96 95 87 99 93 782 A 5 djvdj m‡šÍvlRbK

6 nvmbvZ 93 51 62 77 95 99 75 90 86 728 A 7 djvdj m‡šÍvlRbK

8 mvB`yj nvmvb 91 61 71 81 93 92 82 90 86 747 A 6 djvdj m‡šÍvlRbK

9 gwkDi ingvb 95 59 54 88 79 90 73 85 83 706 B+ 10 djvdj fv‡jv

11 mv‡qg nvmvb 70 53 50 77 57 81 50 90 69 597 B 12 ‡gvUv‡gvwU  fv‡jv

13 Avt Avj gvgyb 73 64 49 69 55 41 66 70 81 568 B 13 ‡gvUv‡gvwU  fv‡jv

14 ivwKeyj Bmjvg 91 49 74 78 87 99 75 90 70 713 B+ 9 djvdj fv‡jv

15 Rvwn`yj Bmjvg 71 48 48 40 40 63 50 65 99 524 C 14 Av‡iv fv‡jv Ki‡Z n‡e

17 Avãyi iv¾vK 91 80 86 83 95 98 93 85 90 801 A 4 djvdj m‡šÍvlRbK

18 Avwid web bvwmi 94 53 72 61 88 85 61 75 91 680 B+ 11 djvdj fv‡jv

19 dqmvj Avngv` 74 62 65 73 97 99 73 80 92 715 B+ 8 djvdj fv‡jv

‡gvU cixÿv_©x 14  Rb, A+ = 3 Rb, A= 4 Rb, A- = 4 Rb, B= 2 Rb, C=1 Rb, D=0 Rb|

we‡kl we‡ePbvq DËxY© 0 Rb|  ‡gvU DËxY© 14  Rb, AK…ZKvh© 0  Rb| cv‡ki nvi 100%
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